Homework #3 Evens Answer Key

Selected Problems:
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Homework #3 – 1.1

6. 
[image: image13]
12. 
[image: image14]
18. y = 2x – 4

Points: (-3,-10), (-2,-8), (-1,-6), (0,-4), (1,-2), (2,0), (3,2)
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24. y = |x| - 1

Points: (-3,2), (-2,1), (-1,0), (0,-1), (1,0), (2,1), (3,2)
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30. d

36. y1 passes through the origin (point on graph is (0,0)

42. a) (1,0); b) (0,2)

48. y = 4 – 2x or y = -2x + 4

Intercepts: (0,4), (2,0)
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Points: (-2, ½), (-1,1), (-1/2,2), (-1/3, 3), (1/3,-3), (1/2,-2), (1,-1), (2,-1/2)
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60. 1997

66. Given a point, say (3,-4), the first number is the x-direction or horizontal direction, positive goes right, negative goes left.  Count the number of places over.  Then the second number is the y-direction or vertical direction, with positive being up and negative down.  Count the number of places.  So for out point, we count to the right three, and  then down four.

72. a) false, could be in III since (-1,-1) is in III and (-1)(-1) > 0

b) 3(5)-2(2) = 15-4 ≠ -4 false

c) false, x measures left-right, the y-coordinate of such a point (on x-axis) is 0.

d) true

78. a.
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